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ii) x(n)=cps"ffin,0<n<N-1. ##k (07Marks)

z .,*s , u'"' ', ';'#{y *kr) I*tol *ffi" l) It*ttlf ,fuffiut comnutinffiFr. (osMarks)
k={ ,* "\.-* k=o .&,- @fos' #**'" , s

# :, "49dI!"-? ..,.**
3 a. Write t@rp"rational propgfl$to find the filtgffiutput using Overlap Add method.

.*_\ 4S*" .-J (07Marks)

b. FindWt - point DFT ffiWWsequence *(S) o{-i, 0, 2,3, -4, -2,0,5} , using radix - 2

DIB- FFT algorith* ffi T* @ (oe Marks)

..*wkempure the i:ompffi*ad$tions and co4ffi{w multiplications for the direct computation of

#*- ef versus tt. 
ffiktEorithm 

for N =$2W (04 Marks)

ffi P# -*k 6P
4 a. Derive th*qff.d$ - 2 DIF - Hft*fttgorithm and draw the signal flow graph for N : 8.

Commenf oftdhe number of co,gpflrtations required to find N - point DFT. (07 Marks)

b. Using Overlap save metho_( furd the output of a filter whose impulse response

h(n) = {1, -2,3} andprffi(n) = {2, 3, -1, 0, 5,2, -3,1}.
Use 6 - point circularffivolution. (09 Marks)

c. Given X(k) = {1, j4, & -j4}, find x(n) using radix - 2DIT - FFT algorithm. (04 Marks),*\

W*
!ffir' ;

ffi$ffiffiffi

,2,3,4), find y(n)*if (k) = x((k-2)) +. (05 Marks)

"*J*- F:
id& l/,'1*h OR -ffi'

")'*B+L^ ,'\:-^..1^- a:*X'^fl:Sl -?^-^?+r, ^f I\BIilh. lf /,r('nlr^-r,-\
ouq6 r vr\ &"lY2 a. State and prove the Circular tirrdcflift property of-DffiY .& (06 Marks)

b. Determine the circular coqoHtion of x1(n) = $+ffiF; - I ) and xzJ,-nffi+, 3, 2, -21 , using
ffiffi trM* &@ tr

Time domain formula.,V"efrf-y the result using $refrlrency domain aflfrriach. (09 Marks)

c. For the sequence x(n) ffil, 2,3,0,-4, l,*ffiWf Calculate ,q_ #
I i /W ...rY .. . lr

Time: 3 hrs. - -TPd q}{ax. Marks: 100
%*-* ,w*e*e

,,tm 'S" /-*\
Note: Answer any FIVEfull questions, ftffiiirg ONEfull question'*ffifi each module.

-d

I of2



18EC52

Module-3

5 a. Design an FIR filter for the following desired freq

Use Rectangular w

b. Consider an FIR lter coefficients Kr = S.6$,IQ = 0.5 , & = 0.9' Find its impulse

response and direct form structurg.,k (10 Marks)

b.

"ee \"
vroh.ffid-+
lassfifter p7a.

b.

8a.

b.

10 a.

b.
c.

Define order analog low

using direct *trm - II
,,*..,f 0.7+1.42-'-Mbrz +0.52-3 *k (osMarks)
LLIL' _

* ,d't" i1 .p,Se;'fuL o.7z-3 + 0.32fu"" :
"r4r\*.."* 4 Eg \

ffi%ifl *@d;;i':;.' cw a*'" MOdUle-5
g a. With a neat djpffi explain the ffifoard architecture used in DS processors. (06 Marks)- 

b. Illustrate p##","n orcircuffi$fers used for ad&ess generation in DS ptottttTiluroo

c. Convert theffiibwing dec!5naknumbers into the floating point representation

il o^oao+92 x 2'2 dit -0.638454 x 2s-

Use 4 - bits to represea..kkponent and 12 - bits for mantissa' (07 Marks)

.;i. # OR
With a neat diaqfu, explain the basic architecture of TMS320C54X family DS processors'

(10 Marks)
6* 4h"

Describe the ffiEt single precision floating point format used in DS processors. (05 Marks)

Find thepignBd Q - 15representation for the decimal number 0560123' (05 Marks)

,,'ffi **2of2**
i*#r; *

€

[.-i'*. irlwl</ * #TH(*):to, iflwl ,"t *&,I ,, Lllwl'i/4 *&_
Use the ffamming window function, obtain the.4ffiquency response of the designed FIR

filter. ;W ^ '+- (10 Marks)

For the System tunction H(z) = I + 2.82'Sb.*Z)' * l-72'3 + 0'424'"-@'P$hin the Lattice

coeffrcients and sketch the Lattice struffi' 
* i'q.,U' (10 Marks)

eq*..oR 4* **

6 a. Find the Impulse response of an #h."frTter *ittt tt. fo1owqg$ired frequency response'

. to ;irlwl<ffi;* *,
Ha(w)={ .q;&b- *.r


